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A Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poiing:

8,562 x = 856.2 9,733 % =973.3
4,879 =48.79 9,514 x =95.14
10, 869 X =1086.9 3,588 x = 3588
7,855 % = 7855 1, 169 x =116.9
4, 184 x =41.84 6, 526 X = 652.6
4, 286 X = 4286 8,484 x = 8484
8, 085 x = 8085 3,433 x = 3433
1,102 x =11.02 3,17 x =317

9, 168 % = 91.68 6,51 % =651

10, 556 X = 10556 2,396 x =23.96
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Multiplicera med tio befogenheter (antal saknas)

namn:

8,562 x 100 = 856.2

4,879 x 10 =48.79

10, 869 x 100 = 1086.9

7,855 x 1000 = 7855

4,184 x 10 =41.84

4,286 x 1000 = 4286

8,085 x 1000 = 8085

1,102 x 10 =11.02

9,168 x 10 =91.68

10, 556 x 1000 = 10556

Datum: Poéng:

9,733 x 100 =973.3

9,514 x 10 =95.14

3,588 x 1000 = 3588

1,169 x 100 = 116.9

6,526 x 100 = 652.6

8,484 x 1000 = 8484

3,433 x 1000 = 3433

3,17 x 100 = 317

6,51 x 100 = 651

2,396 x 10 = 23.96
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